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The figures in the margin indicate full marks
Jor the questions.

1. Fill in the blanks By choosing the correct
' alternative : 10x1=10

- (a) EPS stands for
(Equity per share / ‘Earnings per share)

w (b) Degree of ﬁnanciél leverage =

EBIT / EPS
EBT / EBIT

(c) When dividend is declared it becomes an/a
of the company.
(obligation / reputation)

Contd.



wife) What de you mean by operating levetage !
F’) | § ) .

&l (d) What do you mean by pre-emplive right 7
i i i
. (¢) What do you mean by capital structure ?

(any five)
ves of financial

(@ Right sh
(prefer e';l]res_ are issued to
€e  sharcholder
s

shareholderS )
5%x4=20

o
B Answer the following :

What are the objecti
ent 7 Explain. .
capitalisation 9 What are the

capitalisation i

(€ Ac
1 COrdl'ngt ,
the firm ; 0 MM The 1
is ory, the tota]
e (Stati‘c /(I)lt(ill &

7 i
Eriflg HAnds vior

Exchanygnje’egt Board Ofm' (Set

0ard of Indizy < i

managen

(b) What is over-

remedies of over-

between equity ghares and

(@ The
€ Job -
and util Ota financia| m
isation of | ECt COvers :
———— (funds /,
(c) Distinguish
' debentures.

()  Wh
: €n { .
he book vape S
Ompany
any five factors affectin

g dividend

be

decision.
is the cost of debt calculated ?

A company issues < 10,00,000, 10%

o 0
redeemable debentures at a discount O
{ floatation amount to
are

Mmpared to shareg.
~ (e) How

(i C
. Lost :
of retained eg i
nings is the

cost Of i
divi
shareholders; i foreg
(financia]
59%,. The costs O
7 30,000. The debentures
er 5 years. Calculate
g a fax

redeemable aft
£ debt assumin

after tax €O st 0

2

. Answ,
e the fb[lOWl.’lg .
rate of 5 0%.
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(b) Explain any five factors that determi »
(c) What is the argument giVen in MM app

(d What is finance function ? Elabo

(ii) The shares of a company are selli
% 40 per share and it had pai
dividend of Z 4 per share last year
-investor’s market expects a gro |

of 5% per year. compute the compd

cost of equity capital.

(g What are the components of cost of capi

Answer the following : (any five)

(a) Explain the net income approad
determining the capital structure.
highlight the role of SEBI in issue of ca

capital structure of a company. What a
limitations of trading on equity ? .

of dividend decision ? What do you
by price-earnings ratio ?

discuss the nature and scope of fir
management. : ‘

Bii ())

hybiid
m 1t amiiie e
of security ? Critically umn}n \ o
| ' ! ralsing
ﬁZi tages and disadvantages 0
advantages

] - 21308
funds by issuing equity ghares.
cbentures

theory ol
513

What are the different types © ,l ‘d
/ Also discuss the earnings

- 9

capitalisation.

. g available 0
(g) The following information 15 available

espect of a firm :
ol 10%

T 50

on nvestment 15

Capita\isation ratc =
Earnings per share =
Assumed rate of return
ey 1000
(i) 12% (ii) 8% (iii) 10%
1 4 of dividend policy on
the impact of : o
i:)ﬂ\jet price of shares by applyturt:%i(\))\zz (:0%
1 dividend pay-out It -
formula when divi o
and 1000/0. . f
‘ -+ share capital Ob
h) A company has equity e .

1V i hares
0,000 divided 1nto 8 e
?ts,v(\)/ishes {o raise gurther 3.00,0

qvailable
G) all common stock
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(i) ¥ 1,00,000 in common stock an:
< 2,00,000 in 10% debentures.

(iii) all debt at 10% p.a.

(iv) T 1,00,000 in common stock and
T 2,00,000 in 8% preference shares.

The company’s existing earnings before
interest and tax are ¥ 1,50,000. The corporate
tax rate is 50%. Determine EPS of each plan
and comment on the implications of financial
leverage. : 8




